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INSTRUCTIONS AND INFORMATION
Read the following instructions and be sure to follow them carefully:

1. This question paper consists of 9 pages.

2. A special ANSWER BOOK consisting of 6 pages is provided in which to answer
all the questions.

3. Answer ALL the questions.

4, Workings must be shown in brackets in 6rder to earn part marks.

5. Non-programmable calculators may be used.

6. You may use dark pencil or black / blue pen to answer the questions.

7. Marks will be deducted for missing details and foreign entries.

8. Use the information in the table below as a guide when answering the question paper.

Try NOT to deviate from it.

Question 1: 47 Marks, 28 Minutes

The topic of this question is: Content:

e Income Statement
Financial Statement and audit report ¢ Internal Control
e Audit report

Question 2: 19 Marks, 11 Minutes

The topic of this question is: Content:

e Calculation of amounts for Cash Flow Statement

Cash Flow Statement « Problem Solving

Question 3: 34 Marks, 21 Minutes

The topic of this question is: Content:

e Stock turnover rate
Ratio’s and analysis and interpretation | ¢ Net asset value per share
o Interpretation
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QUESTION 1 _ (47 Marks; 28 Minutes)
INCOME STATEMENT AND AUDIT REPOR+ |
NQUTU LTD
The information relates to Nqutu Limited for the financial year ended 28 February 2019.
REQUIRED: o
1.1 Prepare the Income Statement (Stafement of Comprehensive Income) for  (40)
the year ended 28 February 2019..

1.2 Explain Two internal control measures which must be used by (2)
management to avoid the problems associated with Trading stock.

INFORMATION:

A. EXTRACT FROM THE PRE-ADJUSTMENT TRIAL BALANCE ON
28 FEBRUARY 2019
Balance sheet accounts
Loan: Qhudeni Bank ; 600 000
Fixed assets at carrying value - 950 000
Fixed deposit: Isandlwana Bank 1186 000
Creditors control : coal) 97 500
Debtors control 186 000
Trading stock 1050 300
Bank o Dr 42 500
SARS (Income tax) (Dr) L 500 000
Provision for bad debts e 12 050
Consumables on hand (Packlng material — 1 March 2018) 820
Nominal accounts :
Sales : 8 750 500
Cost of sales _ 7
Debtors allowance 20 500
Directors fees o 551 000
Audit fees 188 400
Salaries and contributions 481 600
Rent income 67 800
Interest on fixed deposit 80 000
Insurance 14 700
Bad debts : 6 700
Packing material e 4 400
Depreciation : 7
Ordinary share dividends 340 000

B. The business prices its goods at a mark-up of 50% on cost. Trade

discounts of R360 000 was allowed on invoices to certain customers.

C. Goods sold on credit for R75 000 was not recorded.
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A debtor, B Zulu, with an outstanding balance of R42 000, has left the
country. His account must be written off.

The provision for bad debts must be adjusted to 5% of the outstanding
debtors.

The rent income was increased by 10% from 1 November 2018.
The tenant has not paid the rent for February 2019.

No entries have been made for stock stolen at the beginning of

January 2019. The insurance company has informed Nqutu LTD that they
have transferred R32 000 into the business bank account in respect of the
insurance claim. Nqutu Ltd has to bear the stock loss of 20%.

The loan statement received from Qhudeni Bank on 28 February 2019
revealed the following:

Balance on 1 March 2018 R725 000
Repayments of R10 000 per month, including interest R120 000
Interest capitalized ?
Balance on 28 February 2019 R648 000

The auditors are owed a further R19 600 for audit fees for this financial
year

The company had two directors on equal pay from 1 March 2018. A
third director was appointed on 1 September 2018 on the same fee
structure. This director’s fee for February 2019 was not yet paid.

An employee was omitted from the Salaries Journal for February 2019.
His details are as follows:

Gross salary ?
Deductions:

PAYE 3060
Pension fund 1 000
Medical aid fund 840
Net salary 65% of the gross salary
Employers contribution:

Pension fund R2 for every R1 deducted
Medical aid fund Rand for Rand basis

The bookkeeper forgot to reverse the packing material at the beginning of
the financial period.

After taking all adjustments into account, the correct net profit after tax is
R980 000. The income tax rate is 30% of the net profit before tax.
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1.3 AUDIT REPORT

You are provided with an extract of the aﬁdit report from the independent auditors of
Dundee Limited.

REQUIRED:

1.3.1 Why is the auditor's report addressed to the shareholders of Dundee
Limited? . (1)

1.3.2 Did Dundee Limited receive é/an qualified/unqualified/disclaimer of opinion
audit report? Explain. Quote relevant information from the audit report to
motivate your answer. B (2)

1.3.3 State TWO possible consequences that the independent auditors could
face should they be negllgent in performlng their duties. (2)

EXTRACT FROM THE AUDIT REPORT
Opinion

In our opinion, the consolidated éhd separate financial statements
present fairly, in all material respects, the consolidated and separate
financial position of Dundee Ltd as at 28 February 2019, and its
consolidated and separate financial performance and its consolidated
and separate cash flows for the year then ended in accordance with
International Financial Reporting Standards and the requirements of the
Companies Act of South Africa.

MGM
Chartered Accountants (SA)
Registered Accountants and Auditors

47
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QUESTION 2 (19 Marks; 11 Minutes)

CASH FLOW STATEMENT
BABANANGO LTD

You are provided with information relating to Babanango Ltd. for the financial year
ended 28 February 2019.

REQUIRED:

2.1 Calculate the following amounts that will appear in the Cash Flow Statement
on 28 February 2019:

2.1.1 Disposal at carrying value (5)
2.1.2 Dividends paid (3)
2.1.3 Taxpaid (4)
2.1.4 Re-payment of loan (4)

2.2 What do you think the matured Fixed Deposit was used for? Mention one (3)
fact and quote figures to support your answer

INFORMATION:

A. INFORMATION EXTRACTED FROM THE INCOME STATEMENT ON
28 FEBRUARY 2019

Income tax 1 393 200
Depreciation 270 000
Interest expense 45 000
B. EXTRACT FROM THE BALANCE SHEET ON 28 FEBRUARY:
Assets 2019 2018
Non-current assets
Fixed assets 1689 600 1 600 000
Fixed deposit 1 000 000 1 800 000
Current Assets
Trade debtors 297 200 446 900
Accrued income 0 2400
SARS (Income tax) 0 300 000
Cash and cash equivalents ? 642 100
Equity & Liabilities
Shareholders' equity 2 700 000 2 500 000
Share capital 1 900 000 1 800 000
Retained income 800 000 700 000
Non-current liabilities
Mortgage loan ? 1 000 000
Current liabilities
SARS (Income tax) 200 000 0
Shareholders for dividends 1100 000 870 000
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o Extensions to the warehouse were completed at a cost of R800 000.

e Some asset were sold at carrying value during the financial period

D. Dividends:

Interim dividends of R960 000 was paid during the financial period.

E. Financial indicators:

2019

2018
Debt/equity ratio 0.3:1 0.4:1
Current ratio 2.1 1.5:1
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QUESTION 3 o , } - (34 Marks; 21 Mlnutes)
NOTES RATIO S AND ANALYSIS AND INTERPRETATION

BLOOD RIVER

lnformatlon for the ﬂnanclal year ended 28 February 2019 is provuded

REQUIRED: |

3.1 Prepare the followrng notes to the Balance Sheet (Statement of Fmancral
Position) for the year ended 28 February 2019:

341 Ordinary Share Capital .
31.2. Retained lncome' :

3.2 Calculate the followrng fmancral indicators on 28 February 2019:

3. 2 1 Stock turnover rate
3. 2 2 Net asset value per share

3.3 Prowde calculatrons to show the change in the d|V|dend pay—out polrcy and
comment on lts |mpact on retalned earnlngs .

3.4 Explarn why the shareholders should be satisfied with the returns on thelr
investment. Quote TWO financial rndlcators (wrth flgures) to support your
oplnlon :

3.5 The directors demded to increase the Ioan durlng the current flnanCIal year.
Quote TWO financial indicators (actual figures/ratios/percentages) that are
relevant to their decision. Explain why this was a good or bad decision.

(8)
(6)

(4)
(4)
(4)

(4)

(4)
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INFORMATION:
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A. INFORMATION EXTRACTED FROM THE INCOME STATEMENT ON

28 FEBRUARY 2019

Sales 2 821 000
Net profit before tax 2100 000
Net profit after tax 1470 000

B. EXTRACT FROM THE BALANCE SHEET ON 28 FEBRUARY:

2019 2018
Inventory 440 000 400 000
Ordinary share capital 24 700 000 18 000 000
Retained income ? 1 370 000

C. MARK-UP PERCENTAGE:

The business used a mark-up percentage of 30% on cost. This was

maintained for the current financial period.

D. SHARES:

e The company is authorised to issue 5 000 000 shares.

¢ The average share price was R6.00 at the beginning of the

financial year (1 March 2018).

¢ 1000 000 shares was issued on 1 September 2018.
e 200 000 shares were repurchased from certain shareholders at
R9.00 per share during January 2019. These shares do qualified

for final dividends.

E. DIVIDENDS:

e An interim dividend of 15 cents per share was declared and paid

on 31 August 2018.

¢ Afinal dividend of 30 cents per share was declared on

28 February 2019.

F. FINANCIAL INDICATORS ON 28 FEBRUARY 2019:

Copyright Reserved

2019 2018
Stock turnover rate ? 3 times
% return on total capital employed 27% 19.5%
% return on average shareholders 25% 13.2%
Debt/equity ratio 0.2:1 0.1:1
Net asset value per share ? 646 cents
Earnings per share 90 cents | 70 cents
Dividends per share 81 cents | 84 cents
Market price 750 cents | 660 cents
Interest rate 16% 16%

TOTAL MARKS:

[100]
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QUESTION 1

1.1 INCOME STATEMENT FOR THE YEAR ENDED 28 FEBRUARY 2019.

Insurance

14 700

40
1.2 INTERNAL CONTROL
Explain Two internal control measures which must be used by
management to avoid the problems associated with Trading stock.
2
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1.3  AUDIT REPORT

1.3.1 | Why is the auditors’ report addressed to the shareholders of
Dundee Limited? '

1.3.2 | Did Dundee Limited received a/an qualified/unqualified/disclaimer
of opinion audit report?

Explain. Quote relevant information from the auditors’ report to
motivate your answer.

1.3.3 | State TWO possible consequences that the auditor could face
should he be negligent when performing his duties.

TOTAL MARKS

47
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QUESTION 2
2.1 CALCULATION OF FIGURES FOR THE CASH FLOW STATEMENT
No. | Calculations Answer
2.1.1 | Disposal at carrying value '
5
2.1.2 | Dividends paid
3
2.1.3 | Tax paid
4
2.1.4 | Re-payment of loan
4
2.2 | What do you think the matured Fixed Deposit was used for? Comment
on one activity and quote figures to support your answer.
3

TOTAL MARKS

19
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QUESTION 3

3.1.1 Ordinary share capital
Authorised

5 000 000 shares

Issued shares

NSC

Common Test March 2019

3.1.2 Retained income

Balance at the beginning

R1 370 000

3.2.1 | Stock turnover rate

3.2.2 | Net asset value per share
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3.3 | Provide calculations to show the change in the dividend pay-out
policy and comment on its impact on retained earnings.

3.4 | Explain why the shareholders should be sétisfied with the returns
on their investment. Quote TWO financial indicators (with figures) to
support your opinion.

3.5 | The directors decided to increase the loan during the current
financial year. Quote TWO financial indicators (actual
figures/ratios/percentages) that are relevant to their decision.
Explain why this was a good or bad decision.

TOTAL MARKS

34

Copyright Reserved



13A0 uin) ases|d pantasal Jybukdon
4
z AyeinBai ajow / sappuenb Jsjlews ut Ang o
(pajoadsns s) yejs J1) SaiNP JO UOCISIAIG
seJswed jlejsuydis
$9[es 0} )o3yo pue mEQ_ 10adsul / sejeb ay} je Ajunoas anoidwy) e
MO0)S 8U} 10} Sjauiqed Aeidsip ainoas spincld
sbey aoud Aunoas / sjonpoid auy uo seomnap Bupoes aoe|ld o
$Juno9 %o0}s jeaisAyd Jenbaioq e
» » Siuiod piea omy
"¥903s Buipeii ynm pejejsosse swajqosd ayj pioAe 03 Juewabeuew
Aq posn aq 3Snw Yojym SaINSeal |013UOI [euleju] om] ujejdx3
jonuoy jeusaju; 'L
oy Vs 000 086 uonexe) sayeyoidiaNy| 2
oy A (000 02v) e TBRIROIED uonexe|
] 000 00% L uofexe} 810j9q Jyoid JoN
» | (000 et sasuadxa Wu..&:_
(hasmlupw ey GofRing
A 000 SH¥ L mmmcoaxw JsaJ9)u 210j8q Woud Bunessdo
Vs 000 08 aw00u} Jsasajul
A | 000€9€E L 9 oud Bupesado
A OvP ¥S 8 uoneaidag | 6L
»_lozzs A\oww + A00¥ b) feuotew Bunped
A | Ob¥ 86F » {0002 + 0¥8 + 000 ¥1) + A009 L8Y) SeueeS
» | 00008 (000 61 + 000 1GS) S99} si0pauQ
4 1000802 (£009 61 + £00¥ 881) S8} upny
+, 10008 Yauy) 0} aNP H0)S JO SSOT
»__|ooLsy (000 2¥ + 200 9) S)G2p peg
00L ¥1 , doueinsuy
A | (00s 00 1) o ] sosuadxe Bunesedo
006 0222 awooulI ssolo | 9
£, 1004 1 juaunsnipe sjgap peq 10j UOISIACIH
2 100¥ ¥L (£008 9 + 4008 £9) awodu] Jusy
006G S awoout Bugesado Jaylo
A |000S69¢2 BdgNooys wyoud ssoin| g
{ewingipdiBusnAqoadsut v
A (000041 9) 0S1/004 (A000 09€+ [A000 S08 8) SOl J0 1500
PVl 000 S08 8 (£000 SZ + 00S 0Z ~ £00S 05/ 8) SoleS

'610Z AMYN¥E3d 87 A3ANA HVIA IHL 04 INJWILVLS SNOONI L'}

| NOLLS3ND

OSN
6102 YoIBW }s9 | Uowwo i Bugunoooy

J9n0 WM Isel|d
‘sefied g Jo 3s1su0d sauldpInb Buppew asay

‘uopejuasasdauawaceld = d ‘wey ublalo) = § :sepod

paniasal Wybukdo

k4

‘aulepinG Buniiew ay) puokaq sanjews)e piiea apinoid OUM SaJepIpUeD JO leme ag ‘¢l
‘(X1 B yim ajeoipuy] “ped u) ises) je

109.000Ul S| Jey) wayl Aue Joy sxuew [inj 186 Jou op sajepipued jey) ainsus ‘sxsew poyjew Buipieme ujp  "Z|
‘sones o} saydde

os{e sy — vmnnmam ale JOJeUIIOUSp P JojeIawnu Ji SBUDLIOM JO) SHJEW PJEME JOU Op ‘SUORBINOED U] "L}
‘owaw Jad Jo ‘+ X - ‘+ aq Jsnw uoyesado ¥o9yo

:810N ‘10eu0o ped auo pue uopesado sueaw Joauod Hed au(Q, uonesado doayd, sueaw uonessdo 0l
“}ew ayj Buipieme aojaq 109400 aq Jsniu Jed auo JSes) Je pue Jamsue

8y} Jo ssauajqeuoseal ay) Joadsul jsnw Joxiew ay) ‘uonelado Joj popiemE ale SHIBW POYBus aYM 6

-anneBou [eul e aq Jouued uonsanb ay) Jo uonoas Jey Joj sJew aiy ‘paldde ase sapjeuad asoUM '8
‘suosanb ulepad Ul SaoUBNU 0) anp 8ie apew sjuaw)snipe

ay]. Jusuneas 1pau0ou; Aidwi by swiey uleas se 'uolnquisip oiignd Joj Jou S| WnpueioWAW SIYL /L
'S3jEPIPUED W)

slamsue Jo seljiienb Buuayp Usamiaq SjeNuUSISHIP O} papieme ag Aew. sytew-yed ‘pajedipul @laym ‘9
-anisod si ainby ayj 1ey awnsse ‘papiaoid s 1840rIq J0 UBIS — JO + OU Jf “pew ay)

pieme 0} paJapisuod aq Jsnw aunby Aue Jo 103 aaeHau Jo aatisod ay} 'Pajedipul 8SIMIBYI0 SSBlUN 'S
‘lioM SB JOMSUE jeul Joj dJew poyiaw au AueS Jou op asa) ‘sbuppom
10 sjusuodwod 10) owsw Ui pajeindys aie samby Ji :ajoN "(Jamsue ayj Joj e poyjaw auy jou) aunbiy

12y} Joj Bupliom ay Joy yew-ped sy ajedojie ‘ainby |euy e sB umoys s1 ainby usunsnipe-aide y v

'papin0sd sBupjIom ay) JEW ‘100LI0DU] JOMSUE J| JOMSUR JORLI0D JOy SHJeUS N4 ¢
‘wal Jey) Joj sanby ayy uo sysew

Buiwses si ajepipued ayy Ji Ajuo paldde ase (s|iejep "6-a) uopejuasald Jood Jo Juawadeld Joj saljeUSd ‘T
-patidde Ayjeuad ajgnop oN
‘(wey paoejdsiw Joj Ajleusd ou) way Jeyy Joy uonsanb ay} ul asaymasid sxpew Buisoj Jou si sjepipued

3y} j Auo paydde ase sway ubialo} Joj saljeuad ‘aulapinG Buppew ay} Ul pajels asMIBYIo SSejUN L

‘SATJIONINd ONDRIVIN

001 SYAVHN

730w

J1VOI4i1d3D JOINTS

TVNOILVN

CLEREEE R RER RS RN REEREEL} PN

U]
. 6L0Z HONVIN:

, WNANVYONIN
m ~ ONILNNODOV

.’..ﬂuIﬂl,ﬂﬂﬂﬂﬂﬂﬂ.ﬂﬂﬂﬂﬂﬂlllﬂﬂﬂIﬂﬂﬂﬂllﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂlﬂﬂ“@

IVIVN-IVINZVMA 4O IDNIAQHd
uopeanp3
Juewpedaq

uoieonps




6}

6L °
SHIVIN TVLIOL
£ 000 061y ueo| abebuop jo wawAed ped
000 008y BuIIS00 asnoyalem ay} 0} SUOISUBIXT
£ amnbly 4 AyARoe BUO
-1amsue nok poddns o3 sainby ajonb pue Lok auo uo
JUBWIWOD £J10j pasn sem Jisodag paxid painjew ayj juiyy nokop jeym| 22
Jauce yed suouonziado
A (000 061) £ 0000L8— +000 000 }
14
4 6102 Joj UBO] A000018= €0 X 00000.2
ueo| jo JuswAed-ay | ¥'1'2
ed guouoneiedo
14 002 €6€ | — 000 00€ + 000 00Z O
14 A (002 £68) 000 002 — »000 00€ — A00C €6€ |
pred xej ] £°1°2
£ Pavoa:ued:ououoneiedo
€ 000 00} | — (000 096 + 000 00L1 ) + 000 048 JO
R(000 0€8 1) 000 096 + 000 0.8
pled spuspiAlg | 2°L°2
S
pauooed auo uogeledo
g 009 689 L — 000 0.2 — 000 008 + 000 009 |
o
A 00¥ oty 000 009 L — »000 008 — » 000 0.Z + A009 689 |
onjeA buiAiies je jesodsig | 112
Jamsuy suonejnadjed ‘ON
LINIWILVLIS MOTd HSVD FHL HO4 SHANOIJ 40 NOLLVTINDTIVD 17¢
Z NOILS3ND
6107 1531 NOWINOD HOUYIN NI € ONILNNOIDY

Ly

SHUVIN TV.LOL

saynp Jiay; Buiwiopad uj jusbijbsu eq
o} punoj ate Asy} Ji ‘(3)qeIl piey) siapjoyaleys ay) Aq pens aq pINoo AsyL e
‘104 84} YO Yorujs / pasaisibaiap aq pinoo sy
-(pneJj Joj) pa)saue aq pjnod Ayl e
papusadsns /pauly 7 pauldiosip aq pINco Asyl e

A A seouanbasuod Jualayip pue ajesedes OML Auy

sannp siy Buiuuiopad uaym juabiibou aq ay pinoys
oJe} pINoo Joypne 8y} jey) sesuanbosuod sjqissod OML 9I€IS

» Sluasaid Apiey sjuswiaels jeloueuy ay |,
‘peypne ajdwes ay) woy Svelsiw Aue puy Jou piNod sIolpne Syl

‘1omsue 1noAk ajeAowl
03 podos SI0)Ipne 9y} WO} UOHBULIOU] JUBASIA) Jjony ‘ulejdx3

_uodai ypne uoyuido papenbun

suodai jipne uojuido jo
1awieosip/payifenbun/paistienb ueje psAledad paywi aspung pid

A Auedwiod ay JO SISUMO U} d1e Siapjoyaseys 8yl

£poywi sapung

JO slopjoyaleys ay) o} passaippe uodas sioupne sy si AUm

o 3

TeL

Vel

1¥od3y Lianv €1

6107 1531 NOWWOD HOYVIN NZY 4

ONLNNOIDV



SSTMO] jIis 1 )l asneosq uoisiosp poobesisiyl o
Bupesb SARISOd Jo asnedaq uoisioap poobesisy) e
jiew auo Joy asuodsay

» “(1endes pamouioq Jo asn anisualxa Bupjew Jou) Y5 MO St
) pue (Sueoj uo 8jel 1$aIBU| SPAdIXe 30 LOY) DULESD 9ATISOd SI a1y )
ISHIBW OM] 1O} asuodsay

onzysidxo sioidine

A

UEd SUOSE3J UIEIU0D JSnw uoneuejdxy

\
%91 J0 8jel Jsasul sy} Buipaacxs 9,2z si pakojdwis [eyded uo uiney
A1:2'0 01 L:1'0 woJy paseasou; oljes Aynbapgag

“uojs|dep peq 10 poob e sem siyj Aym urejdxg

:o_m_owu 119y} 03} JueAsjal aae Jey} (sabejusasad/sopelssainby
jenjoe) s10)e2)puj [ejoURUY OML 2J0NY “Jedk jejoueuy
juaind ay) Buyinp ueoj ayj esealdu 0) Papiosp S10384iP 8Y L

ssauisnq ayj Jo sjoadsoid ainjny sy} anoiduy 0} paseasdap Sda ing
"6L02 Ul SJUS0 06 O} 810Z Ut SIUSD O/ Wolj paseasoul areys Jad sbujuies

"6102 Ul %SZ 01 810 W % E} Wouy paseasoul JHSOY
A SaInbly 9 JUSWIWOJ/SPUBLL A  JOJEDIPUI [RIDURUIS
‘uotuido 4noA poddns

03 (seunbByy ypm) sioledipu; [ejouRUY OML JONY) JUSWIISIAU] JJOY) UO
SUiNje1 8y} Y)m peysiies aq pinoys siapjoyaleys ayy Aum ujejdxg

£ _“BWO0dul paurejal ay} 10} %01 1ddY | A%06 = 06/L8 | 6102

4 "3UI00U) PRUIBJRI BU) WOY SWIED BAX3 %0Z | A %0Z) = 0L/¥8 | 8102

juawiion

uonenojes | seap

‘sBuiuses pauejas uo joedwi s} uo Juswiwos pue Aojjod
Ino-Aed puspjalp 8yj uj abueyds ayj moys 03 suoyejnofes apiaoad

6T0Z 1S31 NOWWOD HOYYIN NZ) S

e'c

ONILNNODIVY

L4
14
eisdo A SJUSO 899
2000008 €
%8 001 X [A000 069 + 000 00L +C
\
aseys Jad anjeAa jasse JaN | Z'Z¢
L4 000'0%8:40) SHEU! 0N Paemy
¥ ydoooe  [HSOW 91'G =
» (000 00V + 000 OFY) A%
» 0000L1C
ojeu Jarowiny yoois | 1'z'e
9 A 000 0694 o pua ayj} je aouejeg
9 » 000002 LY jeuld
000 05+ Pieg
A (000 069 1Y) 21890 SPUSPINIG
7 (000 005Y) (052 X cco oowv saJeys Jo yoeq -Ang
2000 0% LY xe} Jaye woid JaN
000 0.¢ 1 Buiuwboq oy} Je aduejeg
aWoou] pauleIdy z'L'e
uopesedo,
8 000 002 ¥2 09y @ saleys A 000008 €
8 » (000 00€ 1Y) 0G94 © Saleys yoeg-Ang » (000 002)
A 0000008 ¥ | tousdg 8y @ saieys » 0000001
» 000 000 81 94 © seseys » 000 000 €
saleys panss|
Saleys 000 000 G
pasuoyiny
|eyded aseys Aleuipl0  1°L°S
£ NOLLS3ND

6T0T LS31 NOWWOD HOUVIN NZX

ONLINNODDOV
-



